CpE6110
Homework # 5
1)

a)
Draw the dataflow graph of the following program using the basic primitive notations as discussed in class:

input(x,n);


y = 1;  i = n;


while i > 0 do



begin y = y * x;




i = i - 1;



end


z = y;

output z

b) What is the representation (complete) of this flow graph in an MIT static architecture?

2) Draw the dataflow graph of the following program using the basic primitive notations as discussed in class:

Z= N!

3)
Draw the dataflow graph of the following program using the basic primitive notations as discussed in class:

input (w,x);


y :=  x;   t  :=  0;


while t ≠ w   do



begin
if y > 1 then  y := y ÷ 2





else  y := y * 3;




t := t+1;



end

output (y);
4)

a)
Use the basic dataflow primitives to draw a dataflow graph of:


f(x, y) = (x * (x + y) - (x + y) ÷ y) ÷ (x * (x + y) * (x + y))

b)
Compare dataflow model of computation against control flow model of computation (at least 4 issues should be addressed).

